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1222 Theory of Computation Report (6)

Heisei 18, Term 2-1 (10/4(Wed)O 12/1(Fri))
Teacher: Ryuhei UEHARA (Room I67b, uehara@jaist.ac.jp)

Date: 11/22(Wed)
Deadline: 11/29(Wed) 10:50a.m.

Note: Do not forget to write your name, ID, problems, and answers on your report.

Answer one of the following two problems; if you answer both, the higher score will be recorded.

Problem 1: As mentioned in the class, it is trivial that QSAT§§3SAT if we define “each clause contains
at most k literals.” However, if we define “each clause contains exactly k literals,” we have to
construct some polynomial time reduction to show 2SAT<!? 3SAT. Now, show polynomial time

reductions under the following assumptions.

1. Each clause can contain two or more same literals. (1 point)

2. Each clause consists of three distinct (different) literals. (4 points) (Hint: Introduce new

variables.)

Problem 2: Show KNAP<P BIN. (5 points)



